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Instructions :

1) All questions are compulsory.

2) Each question carries 1 mark.

3) Answers should be marked in the given OMR answer sheet by darkening the
appropriate option.

4) Follow the instructions given on OMR sheet.

5) Rough work shall be done on the sheet provided at the end of question paper.

1. When constitution of India was accepted?
YRATS Hiem well Ta et ?
A) 1947 B) 1948
C) 1949 D) 1950
2. When was the first general election held in independent India?
TS WRATA Ufet! Hiaeh Hasueh ®eft et ?
A) 1951 B) 1952
C) 1953 D) 1954



ENT-52

Prof. Amartya Sen was awarded the Nobel Prize for his contribution to the
field of:

. 3THE B T AT A1 GATAA ANTEHISEA HIael TNk quaTd 3.

A) Food and famines IS (U1 GohTES

B) Indian economy URA reiegaeen
C) Welfare Economics THEATUTRRI AT
D) Poverty TR

Which of the following is most populous country?

WTAUh! Uigetl Teid TR ehEEaT SAHAAT 291 ShIUTdT ?

A) UK Ik

B) China ==

B) India I

B) Australis arreeforan

Who wrote the book Shetakaryancha Asud?

"SIk 3TYE’ ¢ Y&k vl faafga amg 2

A) Jotiba Fule Sreitan et

B) Vitthal Ramji Shinde forge st e

C) Narendra Jadhav g e

D) Dr.B.R. Ambedkar 1. &ft. 3R, 3TeEH



Who was the first Law and Justice Minister of India?

WRAT Ufged ShEal o =19 Wil <hIUT gid ?

A) Dr.B.R. Ambedkar 1. &, 3. AEEH
B) Dr. Rajendra Prasad TG TG

C) Jawaharlal Neharu HATHATA 2&

D) None of these TR ATE

Which is the largest coffee-producing state of India?

HRATAIA T ST hithl JedTgeh TS 0T TR ?

A) Kerala WD

B) Karnataka wHAleh

C) Tamil Nadu AT,

D) Arunachal Pradesh HUTTEA T

How many Lok Sabha scats belong to Maharashtra?

TERIYTA eliehasrean fordt Smm eimga ?
A) 47 B) 48
C) 49 D) 50

Who is known as 'the father of Indian missile technology"?

“URAE QUUTRE G S TgULT ShIvTell SHeEet ST ?

A) Dr. A.P.]. Abdul Kalam 3sqe1 hel™
B) Dr. Chidambaram e
C) Dr. Homi Bhabha Fret e
D) Dr.U.R.Rao g, AR, T
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10.

11.

12.

13.

A) 1978

C) 1980

B) 1979

D) 1981

ARas FHaeurhiETE! U gvaml ff A & ... IR,
A) 21 B) 35

C) 30 D) 25

ICICI is the name of @ .....ccvvererrrennees

HAEHATHAT R oo = 9 3R

A) Chemical industry TR TR
B) Corporation HIIARIA

C) Bureau =

D) Financial institution fordta ween

A) Bhojpuri
B) Magadhi
C) Pali

D) Sanskrit
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15.

16.
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Who was known as Iron man of India?

HRATEN FIEYEY U HIVTAT B AT ?

A) Govind Ballabh Pant Tiiferg Igy ua

B) Subhash Chandra Bose guTEg JE

C) Jawaharlal Nehru HATHATA Ag&

D) SardarVallabhbhai Patel TER TZUATE U

R. K. Laxman is a renowned..............

R, . ALH ............ U uftrg Sga

A) Cartoonist FTISRR
B) Dance master S AT
C) Writer gicEd

D) Journalist RECIN

'Ashoka Chakra' is awarded for ...............

A) acts of gallantry in the presence of enemy
YN SUfEra YT e

B) outstanding contribution to literature

TR A ARG
C) gallantry by children

AT vt
D) the most conspicuous bravery or self- sacrifice on land, air or sea but
not in the presence of the enemy
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17.

18.

19.

20.

.............. ST SARTIAeh UETaRUT & |IST SheAl STt
A) August 6 B) April 7
C) June 16 D) June 5

World Human Rights Day is observed on.........

SRR HHETERR &7 utesen ST,
A) April 8 C) December 10
B) December 7 D) September 5

Which word does NOT belong with the others?
SRIVTAT I1eq SAGYN Heferd Tl ?

A) Guitar fer

B) Violin e
C) Flute I

D) Cello el

Which word does NOT belong with the others?

SRIUTAT Y18 JARI9N Helferd T ?

A) Branch L]
B) Root e

C) Dirt e
D) Leaf A
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21.

22.

23.

ENT-52
Which word does NOT belong with the others?

SHITTAT a3 AV HAerd A1 2
A) Book J&dh
B) Glossary bCeCa L
C) Index SUTSHATERT
D) Chapter e

A, B and C can do a piece of work in 20, 30 and 60 days respectively. In how
many days can A do the work if he is assisted by B and C on every third day?

A, B 3nifur C g M 31gsRA R0, 30 31fut 60 feaema s viehar. & faer=n et B stfor
C =it 7ad Gaeam@ A fhdt faa@ia =M & wehar ?

A) 12 days 22 femm
B) 15 days 2y femm
C) 16 days 2% feem
D) 18 days 9¢ faam
CMM, E0O, GQQ, , KuU

A) GRR

B) ISS

C) GSS

D) ITT



24.

25.

26.

27.
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4 men and 6 women can complete aworkin 8 days, while 3 menand 7 women
can complete it in 10 days. In how many days will 10 women complete it?

¥ JEY T & R ¢ feaama ue @ gl &% viehatd, @ 3 JEW STIUT © ’ige Qo
feermma A qut & viekdama. ¢ o afgen Tt feaama gt weder

A) 35 days 3 feem
B) 45 days ¥ feaw
C) 40 days ¥o faa@
D) 50 days wo feam

The banker's discount on a bill due 4 months hence at 15% is Rs. 420. The
true discount is:

¥ AT o8 EeTedN foelTa SRt $4% HE § ¥R0. AR, T T6T ... IR,
A) Rs. 400 ®. ¥00
B) Rs. 480 ®. ¥LO
C) Rs. 360 ¥. 380
D) Rs. 320 %. 330

Choose the correct alternative to fill in the blank in the following
sentences

| IS a new bike yesterday

A) bought B) had bought
C) was bought D) None of these
Can you tell me............ the department is?

A) which B) here

C) where D) were



28.

29.

30.

31.

32.
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Its Thursday today. Tomorrow it........... Friday.
A) will B) would
C) was D) will be

[ would spend my holidays in Kashmir if I .....enough money.
A) would have B) had

C) have had D) have

He say he has been robbed. He can't find his wallet...........
A) not anywhere

B) nowhere

C) anywhere

D) somewhere

Choose the correct sentence

A) Always he arrives at 2.30.

B) He arrives always at 2.30

C) He always arrives at 2.30

D) he always at 2.30 arrives.

Choose the correct sentence

A) Give the book to Sir.

B) Give the Sir book

C) Give to sir the book.

D) Give the sir to book.



33.

Choose the correct sentence
A) Usually Rani eats fast
B) Rani usually eats fast.
C) Rani eats fast usually.

D) Rani usually fast cats.

Choose the correct antonym

34.

35.

36.

Fail

A) succeed
C) try
Build

A) make
C) start
Lead

A) Follow

C) help

Choose the correct synonym

37.

38.

Research

A) find

C) resend
Tiny

A) very small

C) very happy

B) Correct

D) help

B) destroy

D) create

B) Direct

D) manage

B) Angle

D) investigate

B) very thick

D) very soft
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Choose the correct spelling

39.

40.

41.

42.

A) Moderation B) Moderetion

C) Modderation D) Modration

A) Agrriment B) Agriment

C) Agreement D) Agreemaent

A) Comprihension B) Comprehension
C) Comprehenshon D) Comprehention
A) Begining B) Beginning

C) Begiening D) Begenning

Choose the correct alternatives.

43.

44.

45,

You haven't met him............

A) do you? B) have you?

C) haven't you D) don't you?

No sooner...... we........ the noise than we rushed to the spot.
A) do..hear B) did...heard

C) did....hear D) do...heard

ENT-52

As soon as she finished one project, she........ working on the next.

A) started
B) would start
C) was started

D) Will start

11:32
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46. Many developing countries are burdened by ........... foreign debt.
A) excessive B) exxccesive
C) exccessive D) execcive

47. Choose the correct spelling

A) Excellent B) Exsellent

C) Exceellent D) Exseellent
Rearrange the words and phrases given to make the meaningful sentence
48. A)toher

B) well known

C)is

D) Simaran

A) A,CB.D B) C.D.A.B
C) D,C,B,A D) D.A.C.B

49. A) had been

B) by him

C) stolen

D) her bag

A) AB,C)D C) CA,B.D
B) D.A.C.B D) D,B,C,A
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50.

51.

52.

A) made
B) him

C) She

D) a doctor
A) AB,C.D

C) B,CD,A

The term 'sociology was coined by

THTSIITE g1 916G ShIVTt STaRe ?
A) Saint Simon

C) Herbert Spencer

B) Auguste Comte

D) Durkheim

Who is father of Economics?
NefyTTe ferETen Sk it ?

A) Adam Smith

B) Adam Cruz

C) Adam Kama

D) Adam Mask

B) B.C.A.D

D) C.A,B,D

~

37 kI
3TEH H™1

~

HSH HEh
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53.

54.

55.

FTRIA TA. e Tatere 3

A) Milk cooperatives Y TR T

B) Cereals cooperatives TUTT TEEhNT T
C) Pulses cooperatives YT AEHRI TwAT
D) None of the above TCTUhT HIEIE AT
What is the full form of SEZ?

SEZ = YUt &0 & 31 ?

A) Special Economic Zones. oo anfeles &=

B) Social Economic Zones AR el &
C) Special Education Zones fororw fareror =

D) Special Effective Zones ferorw greh =m

ENT-52

When was the National Bank for Agriculture and Rural Development

(NABARD) set up?

T F T T R S (AT < T e ey
A) 1991

C) 1975

B) 1982

D) 1969

14:32
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57.

58.
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What are the benefits of Globalisation?

SIRTfCIShTRTTTe! TS ShTel 3TTed ?

A) Use of Innovation and Technology
FAIRH 3TUT AT ATUR

B) Get Access to Various New Cultures
faferer i EeAeR A freen

C) Low Production Costs
FHH ST T

D) All of the Above

T v

Which of the following promotes Globalisation?

WIEATUR! VT TR IR TIeaTg 3d ?

A) External trade T SR

B) Trade at a small trade Bl STURT SHTUR
C) Trade at a large scale HISAT JHIUTER SR
D) Internal Trade AT SR

Rural development means:
T | g

A) improving rural lives, meeting the fundamental needs of the rural
population, encouraging rural people to participate in social, economic,
and cultural activities

T Siaq GURD, IR0 SR EEEea T TR YUt Sh0l, TR SR
TR, 3T 31Ut Wikhiceh ST TEHTT FUaTETS! TedTEd ot
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60.
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B) carrying out surveys, recording data, and gathering information on
demographic statistics

A0l UR UTS0, 2T TH1E AT T AREEINENT STehearie] Wifedt Mest
HOY

C) introducing new policies related to political institutions at the basic level
D) introducing laws and regulations
IS ST FEm TR ot

Which of the following Indian leader participated in all three round table
conferences?

WICTAUHT ShIUT HRATE d Tomet Teris TREgTHER TgHril Se gid ?

A) Dr. Ambedkar B, 3TeEa

C) Madan Mohan Malaviya T Hig HTeAe™
B) Mahatma Gandhi TETeHT MEht

D) Jawaharlal Nehru TEATEHATA g6

AT Galel TeehTs! YRIean S0 9 . .............. TRUTATd
A) Community Services TG S

B) Voluntary Services UfeseE wa

C) Public Welfare Services FhehedTuT Bl

D) Social Welfare Services HHTSTHEITOT Tl
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61.

62.

63
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Jyotirao Phule started the first girls' school in which city?

ST et T ShIUTET IEa Uget Hetiet et & shelt ?

A) Mumbai L]
B) Pune qut

C) Nagpur AN
D) Satara qraa

Primary education to all regardless of caste and creed was one of the most

significant priorities of .......cccouuuu...

AT -2t forem T e gai et Rieo § 9@9id e ..., T T B

A) Chh. Shahu Maharaj ERRMIERHUE]
B) Vitthal Ramaji Shinde ferger TSt fore
C) Mahtma Gandhi TETerT Teht

D) Dhondo Keshav Karve eiet hata

The Satyashodhak Samaj was founded by Jyotirao Phule in which year?
S Tt i v FHTT TR o A el ?

A) 1848

B) 1873

C) 1851

D) 1882
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65.

66.
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Which organization was founded by Karmveer Bhaurao Patil?

HHAR WIS UIETA T R TEAN TATTAT el ?

A) Rayat Educational Institute a forgron ween

B) Patil Educational Institute T RNeafuTeh TR
C) Bhaurao Shikshan Sansthan e frgror ween
D) None of these JTUh! HIETE! AT

Which of the following options is included in the sustainable development
parameters?

e frehTa ATIEEmE WieticTieh! ShIvTaT Ugia TS SiTg ?
A) Gender inequality and diversity

Wk TEATET ot fafaeman

C) Intergenerational and intragenerational equity
TETARIA ST SLHRIEA Fhepet

B) Growing annually
T Ared AR

D) All of the above

Fhedeh! wd

The United Nations has established a total Sustainable Development Goals

TIh TP THUT N forhma SfRus (SDGs) T&ua Shefl 3114, ...
A) 15 B) 16
C) 17 D) 18
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68.
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The 2030 Agenda For Sustainable Development (SDGs) acknowledge that
all governments must promote action in the important arcas listed below.

2030

ST TR FRATA IgeAulie (SDGs) B U T ht el TRRIHT WTedt Geiteleg oo

HETATEAT 81T Sheltenl StedreA faed i
A) People, planet, prosperity, peace, and collaboration
B) People, the world, wealth, flora, and planning
ek, ST, U, IEt ST e
C) People, planet, wealth, plants, and collaboration
Th, TG, [T, T ST TR
D) People, the environment, prosperity, peace, and foresight
Which of the following are non-institutional sources of rural credit?

WIeEAueht HIUTd ATHIOT heiie TR—FRATHE Hia ST ?

A) Regional rural banks e fYTeR ATHIOT SRt
B) Moneylenders QTah

C) Commercial banks AT SRl

D) None of the above TTOR! IR TS
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69.

70.

71.

72.

A) Atamoderate rate of interest ~ WEIH ST A
B) Without collateral quttiiert ferem
C) Bothaand b are correct a 3fut b L TR AT
D) Both aandb are incorrect a 3T b gIFEl YRt 3Ta

Self-help groups were introduced in

.................. AL TE-FEIAl T F& AT AT
A) 1982 B) 1992
C) 1996 D) 1988

Which of these schemes was established in 1988?

ATURT IV AT §3¢¢ AL TATUH HATAI 2

A) Kisan credit card foram shfee e

C) Bharat Nirman ura fAmtor

B) Self-help groups gl e

D) None of the above FcTd<hl SHTErEl el

What is the name of Dr. Ambedkar's memorial site?

2. STHSHIE T TS AT i ?

A) Samta Sthal Gy U@
B) Veer Bhumi SR g
D) Buddhist Bhumi ey Wt
C) Chaitya Bhoomi Teeget

ENT-52
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73. Which of the following political parties has not been formed by Dr.
Ambedkar?

WTATTdh! ShIUTAT TSTehIA U8l Si. HTHSHTT TATTT ShededT AT ?

A) Indian Republican Party URA fafeerer uet
C) Independent Labor Party A AR e
B) Scheduled Cast Federation WSS I ey

D) Dalit Shoshit Samaj Sangharsh Samiti  gfeta e wur Tord Attt

74. Dr. Ambedkar was the chairman of which committee constituted to form
the Indian Constitution?

M. HATESH WA ToTee-ea1 FfHAETs! TTa A ATeiedT Shiurel JHde Aeael
Fa?

A) Preamble Committee AT At
B) Union Constitution Committee &=t @fee
C) Drafting Committee HEET Afbt
D) Flag Committee ehea T aferdt
75.  Which of the following books has not been written by Dr. Ambedkar?
WA HITR e 2. aseEs fotfeeret A1 ?
A) Thoughts on Pakistan LUETSICEECSRT DI
B) Annihilation of caste AT 3=TeA
C) The problem of Rs: Origin and solution. &.%i THET: Wes (U1 THILT

D) Gandhi, Nehru, and Tagore meR, AgE ST TR

21:32
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77.

78.
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Which of the following is an achievement of Babasaheb Dr. B.R. Ambedkar'?
WATdeh! ShiVTd Shied Si. ol 3TR. TS At 318 ?

A) Leader of the Indian National Congress HRd TS HiE ¥d

B) Architect of the Indian Constitution YRS TeTge-a feusnr

C) Pioneer of the Green Revolution i@ R Jur

D) Founder of the Non-Aligned Movement 3T6cTd Te5ae i TEATIH

The Green Revolution was successful in Punjab, Haryana, and parts of
Rajasthan.

U, gRETOT, SATUT TSTEAH=AT Shigt WIRTI 2 Shidl J9RE SITedl.

A) Westem Uttar Pradesh Tf3m W 9o
C) Madhya Pradesh e g9l

B) Eastern Uttar Pradesh Jd ST Tew
D) Gujarat TSI

................. is the world's largest producer of sugarcane.

............ T T Taid Wiet $6 e 291 3R,

A) India TR

B) Brazil EIEIC

C) Cuba E2C)

D) USA g T
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The Bhoodan-Gramdan movement initiated by ........oueue. is also known as
the Bloodless Revolution.

............ A G& Feled! YeH-TTHSH TSIl ThelH shidl 318E! TgUTdTd.

A) Jawaharlal Nehru HATEATA 96
B) Mahatma Gandhi TgTen et
C) Vinoba Bhave foran wma
D) Sardar Patel TER U

Which of the following agencies provide help related to Microfinance?

WTCATdehT ShIUTAT T WTShITETEYN HETer Had Yiad ?

A) State Bank of India e o ATE i
B) Self-help groups I —Hgdl e
C) Regional rural banks TRfITes ATHiuT st

D) National Bank for Agriculture and Rural Development (NABARD)
T it ST IwdT foreRT e (ATETE)

The white revolution is associated with............

IR oeevvrvvrannnnn It HaEfed R

A) Crops foreR

B) Animal husbandry YA

C) Dairy zard

D) None of the above THAUh! HTErE! AR
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Which of the following statements is true about global warming?
TS ATEEE WeicTdehl shiuTd farem &R e ?
A) Global warming has led to large scale deforestation
Tellel TS HIGSI SHIUTER SRTETATS Bl 311
B) Global warming has led to a rise in the sea levels
Tt SHTEe HHGTSAT UTAid ST STeit 3T

C) Global warming has led to a rapid increase in the population across
several countries

D) Global warming has led to a huge amount of waste generation
TAT FRTHS WS TG el 0T 8 31
Which of the following statements about the ozone shield is accurate?

A Yieeszel TefeTieh! HUR faerm e R ?

A) Ozone shield is found in the troposphere

SHTEi YieE S AT

C) Ozone shield is found in the stratosphere

3MTEA Yiiee TRl siewd

B) Ozone shield is found in the exosphere

AT Ve ToITERaHE HTeed

D) Ozone shield is found in the mesosphere
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85.

86.

A Mice HEITERaHE Ead
Which of the following is true about the environment?
TATERUTIETE WTeTieh! ShivTd Ted 318 ?
A) The environment includes only biotic factors
YHTERUTHEA haes SAfeleh Tkl THIAI grat
B) The environment includes both biotic and abiotic factors
TATERUTHEA Afeeh ST STSifeieh Teehian ST Bl
C) The environment includes only abiotic factors
UHTeRUTTA heldh ITATeIeh Teehial o 2rdt
D) The environment includes neither biotic nor abiotic factors
TATERUTHEA ATk foha srsifereh geshian T A

Planning Commission was established in the year...

A) 1950 B) 1951
C) 1952 D) 1953
In which year NITI Aayog came into being?
el AT ShIVTE T SATECAT SATAT ?

A) 2014

B) 2015

C) 2016

ENT-52
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88.

89.
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D)2017

Panchayat raj system was first introduced in

T T ST FAIL ... LA TE A
A) Kerala WS

C) Rajasthan RUSE2 ||

B) West Bengal afym sme
D) Maharashatra HERTSE

Which of the following British officer associated with local self government
in India?

WTelcTdeh! 0T 5T STferrl WAt Terfes s GEvl Gafed 3R ?

A) Lord Ripon e fum

B) Lord Dufferin AT THRA

C) Lord Mayo [SIER:R]

D) None of the above TR HIEE! AR

Which of the following committee recommended for Panchayati Raj System
in India?

WeATdeh! ShIuTe A TRATAE U T et RTERe Feft o1g ?
A) Sabarwal Committee HeRaTeA Al
C) Balwantrai Mehta Committee.  Se5aavT™ Hgal |

B) Singhvi Committee et wfued
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91.

ENT-52
D) None of the above FHATR HE TR

Which of the following statements is not correct?

WIeTeTUeht ShivTd faem sRisR ATé ?

A) Panchayati Raj was established in India by Jawahar Lal Nehru
TATEATA g6 A1 WRATA TaTerd Tl TATIAT hedl

B) Madhya Pradesh was the first state which implemented The Panchayati
Raj system in India

TRATA U=t T STt SIR] ShUTR HeA TRl @ Ufdet T 21

C) 73rd Constitutional amendment was implemented in 1992
2% HEA 93l TSATGEHEI IR HIUATA STl

D) Tamil Nadu has adopted the bicameral method
AifHesTg faaet ugdten sracts shett o)

What was the main purpose behind bringing the Panchayati Raj system to
India?

URATA eI Tt el STUTVATIRTe JEa 3291 hid giai?

A) To Prevent criminalization of polities
TR TR vt

B) Decentralisation of the political power to the general peoples
A AHETS! TSTeh T kgt

C) Development of villages
Taren s

D) To reduce election expenses
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oz @< wH wvaEdt
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Which factor influences the design and implementation of government

population policies?

TR TREEAT RUT AT AT FHASSITEUN SR ShIUTdl G2k THTE TrSdl ?

A) Cultural norms and values

C) Religious belief's

QiEhicen s 9 gea
e ol

B) Economie interests of powerful elites seteat sifiramra anfeies fFaaay

D) All of the above

Who founded Anandwan?
AT TATYAT HIUT hedl ?
A) Mahatma Gandhi

B) Baba Amte

C) Anna Hazare

D) Swami Vivekananda

e wd

HETeAT TiEht
FET HHS
OO TR
Tt ferareg

What is the primary cause of population explosion in recent times?

HAHSTH HSBTA HBHHEAT THICT HEA FHRUT HE TR ?

A) Increased birth rates
B) Decreased death rates
C) Migration

D) Economic factors

AEAAT STHSR
T et ot
TAATH

S D ER L
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Ralegan Siddhi is a village located in which Indian state?

TGN T WRATSAT HIUTeHT AT A Ueh el AT ?

A) Maharashtra HERY

C") Rajasthan A
B) Uttar Pradesh IR TSI
D) Karnataka AR

Under MGNREGA, what is the guaranteed number of days of wage
employment per household in a financial year?

HAQT i Uehl AT Tuid Uid $gdl fohdl foaramet Il ASHTRren gHt wgu faett
S ?

A) 60 days go feam
C) 100 days 00 faa@
B) 90 days %0 fae
D) 120 days 230 feam

What does NRLM stand for?

A) National Rural Labour Movement
T UTHIUT HFATR S5

C) National Rural Land Management
T T T R

B) National Rural Livelihood Mission
T YRAUT SUSHHTIRT AT

D) National Rural Literacy Movement

T ATHIOT FERAT ABAD
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Traditional Hindu society was divided into...... Varnas.

A) three =
C) five =t
B) four R
D) seven ard

What is the type of control organized through bureaucracy?

ARIEAT IEAHTGA hIvTe Tehiel =0T sraifera shet ST ?

A) officials fermTt
C) Formal Ciepics
B) informal IR
D) Court e

Narmada bachavandolan is associated with

T T @, .. I T Mg ?

A) Medha Patkar T TRt
C) Rani Bang T =

B) Prakash Aamte TERIIT I
D) None of these TRt AT

*e 0
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